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1. Please to find the general solution of two equations(30%)
(1) y'=(y+x)(y+x-5)-2
(2) xy'=y?+y-7
2. A,Bare Matrices, Amxn, Byx,,UNDER WHAT condition AXB is ok? (5%)

3. Using Laplace transfer y(t)=2>y(s): y"'-3y'+2y=t, y(0)=4, y'(0)=5.find
Y(s)=? (20%) |
4. FE (5%)
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5. FIARETEEAE:(10%)

’ Jv+2:=10
%E{Sx-‘- Q- z= 9

'y = 2= 32=11
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6. =REEREA =1 3 1| RAMFEE  FFEAE WK AEAE
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7- Fa=<ay,0,03> b=<by, by, by>B /T =HEME, FE (20%)

(1) axb=?

(2) la]=?

(3) asb=?

(4) aeb =0 ZEMHR? | B4t

(5) 2 a=? % E/\ 'E

(6) axb=?

(7) c=axb ZYHFHER?



